


















































802.11ax HE20 Ch.1(5955 MHz) SU

Ant1 Ant2 

  
 
 

SUM PSD 
(dBm/MHz) 

Duty Cycle Factor 
(dB) 

Total PSD 
(dBm/MHz) 

EIRP PSD 
(dBm/MHz) 

-4.549  0.015  -4.543  -2.254 

 
 
Note: 
 
SUM PSD(dBm/MHz) = 10log(((10^(Ant 1 PSD /10)+10^(Ant 2 PSD/10))) (dBm) 
Total PSD (dBm/MHz) = SUM PSD(dBm) + Duty Cycle Factor (dB) 
EIRP PSD(dBm/MHz) = Total PSD (dBm/MHz) + Directional Gain(dBi) 



802.11ax HE40 Ch.3(5965 MHz) 106 Tones RU 53

Ant1 Ant2 

  
 
 

SUM PSD 
(dBm/MHz) 

Duty Cycle Factor 
(dB) 

Total PSD 
(dBm/MHz) 

EIRP PSD 
(dBm/MHz) 

-4.539  0.046  -4.493  -2.213  

 
 
Note: 
 
SUM PSD(dBm/MHz) = 10log(((10^(Ant 1 PSD /10)+10^(Ant 2 PSD/10))) (dBm) 
Total PSD (dBm/MHz) = SUM PSD(dBm) + Duty Cycle Factor (dB) 
EIRP PSD(dBm/MHz) = Total PSD (dBm/MHz) + Directional Gain(dBi) 
 



802.11ax HE80 Ch.39(6145 MHz) 106 Tones RU 60

Ant1 Ant2 

  
 
 

SUM PSD 
(dBm/MHz) 

Duty Cycle Factor 
(dB) 

Total PSD 
(dBm/MHz) 

EIRP PSD 
(dBm/MHz) 

-4.482  0.046  -4.436  -2.156  

 
 
Note: 
 
SUM PSD(dBm/MHz) = 10log(((10^(Ant 1 PSD /10)+10^(Ant 2 PSD/10))) (dBm) 
Total PSD (dBm/MHz) = SUM PSD(dBm) + Duty Cycle Factor (dB) 
EIRP PSD(dBm/MHz) = Total PSD (dBm/MHz) + Directional Gain(dBi) 



802.11ax HE160 80_L Ch.15(6025 MHz) 106 Tones RU 53

Ant1 Ant2 

  
 
 

SUM PSD 
(dBm/MHz) 

Duty Cycle Factor 
(dB) 

Total PSD 
(dBm/MHz) 

EIRP PSD 
(dBm/MHz) 

-4.869  0.046  -4.824  -2.544  

 
 
Note: 
 
SUM PSD(dBm/MHz) = 10log(((10^(Ant 1 PSD /10)+10^(Ant 2 PSD/10))) (dBm) 
Total PSD (dBm/MHz) = SUM PSD(dBm) + Duty Cycle Factor (dB) 
EIRP PSD(dBm/MHz) = Total PSD (dBm/MHz) + Directional Gain(dBi) 



802.11ax HE160 80_U Ch.79(6345 MHz) 106 Tones RU 60

Ant1 Ant2 

  
 
 

SUM PSD 
(dBm/MHz) 

Duty Cycle Factor 
(dB) 

Total PSD 
(dBm/MHz) 

EIRP PSD 
(dBm/MHz) 

-4.684  0.046  -4.638  -2.358  

 
 
Note: 
 
SUM PSD(dBm/MHz) = 10log(((10^(Ant 1 PSD /10)+10^(Ant 2 PSD/10))) (dBm) 
Total PSD (dBm/MHz) = SUM PSD(dBm) + Duty Cycle Factor (dB) 
EIRP PSD(dBm/MHz) = Total PSD (dBm/MHz) + Directional Gain(dBi) 



802.11ax HE160 80_U Ch.79(6345 MHz) SU

Ant1 Ant2 

  
 
 

SUM PSD 
(dBm/MHz) 

Duty Cycle Factor 
(dB) 

Total PSD 
(dBm/MHz) 

EIRP PSD 
(dBm/MHz) 

-13.387  0.012  -13.375  -11.095  

 
 
Note: 
 
SUM PSD(dBm/MHz) = 10log(((10^(Ant 1 PSD /10)+10^(Ant 2 PSD/10))) (dBm) 
Total PSD (dBm/MHz) = SUM PSD(dBm) + Duty Cycle Factor (dB) 
EIRP PSD(dBm/MHz) = Total PSD (dBm/MHz) + Directional Gain(dBi) 
















